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NEW QUESTION 1
Which two actions can be repositioned in integration with Oracle Integration Cloud (OIC)?

A. Function Call
B. Switch
C. Stage File with Read File in Segments
D. Stage File

Answer: AB

NEW QUESTION 2
Which built-in API platform policy lets you manipulate the request context?

A. Application Rate Limiting Policy
B. Key Validation Policy
C. Redaction Policy
D. Groovy Script Policy

Answer: D

Explanation: 
https://docs.oracle.com/cd/E83857_01/paas/api-platform-cloud/apfad/using-oracle-api-platform-cloud-service.p

NEW QUESTION 3
Which feature flag lifecycle stage includes OIC features that you can request from Oracle to be disabled within your OIC instance environment?

A. Internal Only
B. General Availability
C. Feature Controlled
D. Feature Controlled General Availability

Answer: C

NEW QUESTION 4
Which three Service-Oriented Architecture Cloud Service (SOA CS) Components can route a message to an end point?

A. Oracle Mediator
B. Oracle Business Rules
C. Oracle BPEL Process Manager
D. Oracle Service Bus

Answer: ABC

Explanation: 
https://docs.oracle.com/en/cloud/paas/soa-cloud/csbcs/components-oracle-soa-cloud-service.html

NEW QUESTION 5
You have been tasked with monitoring the SOA composite applications and the underlying environment within a SOA Cloud Service instance.
Which SOA Cloud Service web application is best for viewing completed composite instances?

A. Fusion Middleware Control
B. WebLogic Service Console
C. SOA Cloud Service Console
D. Service Bus Console
E. SOA Composer

Answer: E

NEW QUESTION 6
Which Service-Oriented Architecture Cloud Service (SOA CS) component provides stateful orchestration?

A. Oracle Mediator
B. Oracle Business Activity Monitoring
C. Oracle Service Bus
D. Oracle Business Rules
E. Oracle BPEL Process Manager

Answer: E

NEW QUESTION 7
Which two statements are true about implementing an API-First strategy?

A. The API is to be developed first before any UI or new business logic are created.
B. It generally is assumed that SOAP/WSDL are the key specifications for defining the API.
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C. The code to execute business logic needs to exist and be exposed as an API first before you build a strategy around it.
D. You define the API definition/contract first before any work on its implementation or any applications that use it, allowing to work in parallel.

Answer: AB

NEW QUESTION 8
Which JNDI name value must be provided when configuring the properties of a new database adapter outbound connection pool to support dependent SOA
composite applications?

A. The associated XA database adapter plan deployed with this database adapter outbound connection pool.
B. The defined XA database adapter connection factory configured for this WebLogic domain.
C. The corresponding XA enterprise resource adapter application deployed to the same WebLogic cluster.
D. The corresponding XA datasource configuration deployed to the same WebLogic cluster.

Answer: C

NEW QUESTION 9
Which two options cannot be performed from the Monitoring Dashboard?

A. Activity Stream Download
B. Artifacts Download
C. Download Incident Logs
D. Download Lookup
E. Download Diagnostic Logs

Answer: BC

NEW QUESTION 10
You want to configure SOA Cloud Service instance to allow for a cluster of three WebLogic server instances. Which is a valid consideration when configuring the
Load Balancer within your SOA instance?

A. Load balancer configuration may only be configured after the SOA instance cluster has been provisioned.
B. Each load balancer node will share the same public IP address utilizing virtual routing redundancy protocol (VRRP).
C. A SOA instance can include up to three load balancer virtual machine nodes.
D. Oracle Traffic Director (OTD) is the only available implementation option.

Answer: A

NEW QUESTION 10
Which two statements about lookup are correct?

A. Create a lookup to map values between application.
B. Lookups are deployed as part of integration activation.
C. Changes made to lookups already used in active integrations take effect immediately.
D. You cannot clone a copy of an existing lookup.

Answer: AC

Explanation: 
https://docs.oracle.com/cloud-machine/latest/intcs_gs/ICSUG/GUID-084B7E40-542A-4CDD-A1B0-282B1DA https://docs.oracle.com/en/cloud/paas/integration-
cloud-service/icsug/managing-lookups.html#GUID-93229925

NEW QUESTION 11
Your organization maintains two SOA Cloud Service instances used separately for testing and production. What is the best method for setting the property values
and endpoint addresses that may be unique to each
environment while deploying the same SOA composite application to both instances?

A. Update any required values for changed properties or endpoint addresses in the Fusion Middleware Control web application immediately following the
deployment of the SOA archive.
B. Edit the application's configuration plan to dynamically retrieve values for properties and endpoint addresses from the environment upon deployment.
C. Define specific properties and endpoint addresses within the deployment descriptors contained within each of two versioned SOA archives.
D. Create two configuration plans that contain the environment-specific values for properties and endpoint addresses.

Answer: B

NEW QUESTION 15
Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order to deploy that API?

A. Manage API or Deploy API
B. Manage API
C. Entitle API
D. View all Details and Deploy API

Answer: A
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NEW QUESTION 20
What Expression Language does Decision Modeling and Notation (DMN) use?

A. RegEx
B. Groovy
C. Friendly Enough Expression Language (FEEL)
D. Process Expression Language (PEL)

Answer: C

Explanation: 
https://docs.oracle.com/en/cloud/paas/process-cloud/user/understanding-feel-friendly-enough-expression-langua Decision Modeling and Notation (DMN) defines
Friendly Enough Expression Language (FEEL) to provide
standard executable semantics to all expressions used within a decision model.
In Process, you use FEEL to define expressions within all notations of decision logic, including decision tables.

NEW QUESTION 24
Which role is needed for managing users from Oracle Internet of Things (IoT) Cloud Service?

A. lotUsersGroup
B. TotAdministratorsGroup
C. System Administrator
D. lotOperatorsGroup

Answer: C

NEW QUESTION 26
Which Process type should you choose to model non-sequential process type in Oracle Integration Cloud (OIC)?

A. Adaptive Case Management process
B. Structured Process
C. Dynamic process
D. Unstructured Process

Answer: C

Explanation: 
https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/using-processes-oracle-integration-cloud

NEW QUESTION 31
Which four statements are correct regarding the differences between WSDL/SOAP and REST/JSON?

A. REST is typically invoked with HTTP verbs.
B. WSLD is simpler, REST is richer
C. Modem API-First architectures prefer to use thed-and-true WSDUSOAP services over REST services because they are richer and provide a tighter contract
D. WSDL is a request for a service; REST is a request for a resource
E. WSDL is a tight contract; REST is a loose contract
F. REST more easily used in developing Uls than WSDUSOA
G. REST is gaining popularity in applicationdevelopment.

Answer: BCDF

NEW QUESTION 35
What are the three threshold values for Database space?

A. Quiesced Mode Threshold
B. Un-Quiesce Threshold
C. Warning Threshold
D. Error Threshold

Answer: ABC

NEW QUESTION 38
Which three are valid Oracle Integration Cloud (OIC) Roles ?

A. ServiceDeployer
B. Servicelmplementor
C. ServiceUser
D. ServiceAdministrator

Answer: ACD

Explanation: 
Oracle Integration Cloud Roles Oracle Integration Cloud predefined roles govern access to various Oracle Integration Cloud features: Integrations, Processes,
Visual Builder, Integration Insight, and Stream Analytics . Oracle Integration Cloud predefined roles include ServiceAdministrator, ServiceDeveloper,
ServiceMonitor, ServiceDeployer, and ServiceUser.
https://docs.oracle.com/en/cloud/paas/integration-cloud-um/integration-cloud-user-um/administering-oracle-inte
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NEW QUESTION 41
As a Process Cloud developer, you have been tasked with integrating Oracle Content and Experience Cloud with a process application. Since this is a document-
centric process that will involve collaboration with process participants, it has been determined that the document and conversation functionality should be used.
Which task is NOT required?

A. You will need to create a new process application since conversation functionality cannot be enabled for pre-existing applications.
B. You must manually enable the document and conversation features for your process application.
C. You will need to have the administrator configure the connection between Oracle Process Cloud andOracle Content and Experience Cloud since developers do
not have those permissions.
D. You will need to assign conversation viewers to either an Oracle Content and Experience user role or Oracle Documents Cloud Service user role.

Answer: A

NEW QUESTION 43
Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise systems. What are 2 key elements that you
need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.
B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.
D. The DMZ needs to open port 80 for proper connectivity.

Answer: AC

NEW QUESTION 46
Which two statements are true about Internet of Things (IoT)?

A. Different IOT approaches need to be established integrate different technologies such as mobile, cloud, big data, and analytics, and connects everyday objects
to each other and to the Internet.
B. Cloud technology is well suited to enable IoT, offering high degrees of agility, low and flexible costs, and excellent resource utilization.
C. Using IoT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and more tailored services that differentiate their
businesses.
D. IOT is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and sensors that can be embedded into all of the
various assets that need tracking.

Answer: AB

Explanation: 
https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf

NEW QUESTION 47
Which two are On-prem Connectivity Options with Oracle Integration Cloud (OIC)?

A. VPN
B. Connectivity Agent
C. PaaS Agent
D. Execution Agent

Answer: BC

Explanation: 
https://blogs.oracle.com/soaproactive/announcing-oracle-integration-cloud-oic

NEW QUESTION 52
When a connection is in edit mode and the browser crashes, the connection becomes locked, which then prevents it from being edited. Which two users can
unlock the connection?

A. a user with the Designer Role
B. the same user who has edited the connection
C. any user
D. a user with the Administrator Role

Answer: BD

Explanation: 
https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-connections.html#GUID-085410 Unlocking a Connection
When a connection is in edit mode and the browser crashes, the connection becomes locked, which prevents it from being edited.
To unlock the connection:

 Log in again as the same user who was editing the connection when the browser crashed, then log out. For example, if you were logged in as icsdeveloper
when the browser crashed, log in again as icsdeveloper,
and log out. This action unlocks the connection.
or

 Log in as a user with the Administrators role.

 On the Oracle Integration Cloud Service home page, click Cthoennections
diagram.

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 1z0-1042 dumps!
https://www.certshared.com/exam/1z0-1042/ (71 Q&As)

 For the connection that is locked, click the menu at the far right, then selUecntlock.

NEW QUESTION 56
......
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